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Solve $+ ytan* = 1@*T.dx'*
Show that the *4$Fy of parabolas y2 = 4a(x+ a) is self orthogonal.

Find the gerre#* Wlution of the equation (px - yXpy * x) = 0 by reducing

from, taking4ghe substitution X =x2 ,Y = y2 .
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a. Find the rank of the malrix: M-;-[r 2 -2 3l m.*
l2s-4 6l Mry dpA=l l. ,,.ru,"ry *ffil-l-3 2-zl W- o

12 4 -l 6l _ffi tud
b. Solve the system of equation, ffi* - ffikru "%&l2x+ y* z:31 ffilf

2x-t 8y - z:24 * W .& @

'i.'utiffi
.,,,,'""'tlt'"i',i,i..:1il'tt

* nii'.:iii;;ffi*

Module-S tl;o*ll':* =..

- 

iii'hrii$i}iluiiiii._,,,.-i,'''..'o

,,t.i:+6+r

18MAT1I

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

out 6 iterations).
(07 Marks)

(06 Marks)

trll ' u J 
z-t Lt-Y 

.,*,iF.*i- ..,*S

3x + 4y + l}z - 58 :fl-$.*,

c. Diago nalize the

t__r 3t*-A-l 4{.€
L_2=ru

2x+ 8y - z - 24 ]* 
'4*u**

d.fe. .i{i" 
ffiflrp3x + 4y + l}z- 58 jre# {"*tu*;fu ## ',f;* \ .F*

By Gauss -Siedat meffi.= ''*ru:h

?:T''ilff' $ssL-2=ru F

--ft €
-== -* OR

a. For what values of l. anffi,rl;tu-"r*oaff C\,q
x-2y+32:O ^t' fil.t tx+3y*52=9 , n-V €,

ilJ 1:f**s is u *iqu.4Siiriii) inrurite fihl orsorution.
b. Findthe larsprGig"n ualne and'th$riesponding;snG"to, of t

t&-; 2-t *q eeh
A-ft@" 3 -11 #%Y d

r%42 -r rJ-\y
Jffi Rayleigh's poqdrffiod, use tr r @Jthe initial eigen vector (carry'%ih 6fur dc. Solve the systeffieuations r 

_Wx* y+AW 6fu-r$rd
2x+ y-W0
2x+JY+ff=52 &. @

,e
w.-

10

'r1\ rJ ' t'r ru 
*il*'lt+

By Gauss elimination r1teJffib,O.
"tii'l. 

,r

rk{c*rf*

J $ r!:iiinii-r -..

3 of 3


